WS 4 Selutiows

Math 109 College Algebra
Lecturer: Calvin Hotchkiss
Group Worksheet 4

Indicate which group member is taking on which of the following four roles. You will switch

roles on the next recitation day.

e Reader: Reads the problem to the group and makes sure everyone understands.

e Spokesperson: presents the work and asks questions to the TA.

e Recorder: writes everyone’s names and the group’s work on the worksheet.

e Timekeeper: keeps track of time.

Reader’s name:

Spokesperson’s name:

Recorder’s name:

Timekeeper’s name:

(1) Suppose f(x) is given by the graph to
the right and g(r) = 2? — 42 + 4.

(a) What is g(f(4)?= (L) =4
=4

3W=14% 4 A+ =4-Y4+lh =4 T

(b) What is f(9(0))? = L(4 )= £ \\

:(_’ \\
Ge) = o*-L-D+4 =4
(2) Let f(x) and g(z) be as above and let h(x) be

defined by the table to the right.
2

(@) Whals g(rs)7= 9 (h(o))=9(5)= 3
.
- 2

9(S) = 52-4.5+4 =25 2004 =9
(b) Whatls2izr(i)—f(£‘(,2\2)? =24 —7[)(0)_-.5
=4 =0 '—’;?3/

9(2) = 2%~ h-2+4 = 4-8+ 4 =0

x | h(x)
-118
015
1 ]-1
2 12
3 |4
4 18
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(3) Let f(z) =« — 6 and g(z) = 32> + 4z + 5. Write the formulas for the following. Do
not simplify.

(@) flg(x)) = (3x% Lx+5) -6

0 of@) =3 (x-6) "+ Yy (x-¢)+5

© sty = (x-¢)-6
(4) Let f(z) =3z + 1 and g(x) = - 1. Evaluate and simplify:
@) flol=) = #A. X1 L 1 — x-|+4+]=x

W = X L g
3 4

(c) What do you notice?

ﬁ(ﬁ(x))—— gl£x)) = X



